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General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and due marks be awarded to
them. In Class Xll, while evaluating competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers. These are in the
nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be zero
after delibration and discussion. The remaining answer books meant for evaluation shall
be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

Evaluators will mark( \ ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totalled up and written in the left-
hand margin and encircled. This may be followed strictly.
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If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11

A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view
of the reduced syllabus and number of questions in question paper.

13

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14

While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15

Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16

The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totalled and written in figures and words.

18

The candidates are entitled to obtain photocopy of the Answer Book on request on payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
Senior School Certificate Examination 2025

ECONOMICS (Subject Code-030)
[Paper Code: 58/4/1]

Maximum Marks: 80

EXPECTED ANSWER / VALUE POINTS

Marks

SECTION -A
(Macro Economics)

Read the following statements carefully:

Statement 1: The government may reduce the repo rate, to control deflationary gap prevailing
in the economy.

Statement 2: The government may reduce the deflationary gap, by selling off government
securities (G-Sec) in the open market.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (D) Both Statements 1 and 2 are false.

To arrive at the value of Gross Value Added at Factor Cost (GVAFc), must be
to/from Gross Value Added at Market Price (GVAwmp).
(Choose the correct option to fill in the blanks)
(A) depreciation, added
(B) depreciation, subtracted
(C) Net Indirect Taxes, added
(D) Net Indirect Taxes, subtracted
Ans. (D) Net Indirect Taxes, subtracted

Read the following statements carefully:

Statement 1:  Public goods are those goods for which the payments are made by all the
entities in the country.

Statement 2:  Private goods are those goods which are provided by the government of a
country at subsidised rates.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (D) Both Statements 1 and 2 are false.

Under the Exchange Rate System, the Central Bank can control the foreign
exchange rate in a range bound manner. (Choose the correct option to fill in the blank)
(A) Fixed

(B) Flexible

(C) Managed floating

(D) Gold standard

Ans. (C) Managed floating

Read the following statements- Assertion (A) and Reason (R).
Choose the correct alternative from the options given below:
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Assertion (A): Direct taxes are imposed on income/profits of individuals/companies.
Reason (R): The burden of payment of direct taxes cannot be shifted to any other entity.
Options:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

Under the Keynesian theory, ‘Reference Line’ is a straight line passing through the origin
drawn at an angle of : (Choose the correct option to fill in the blank)
(A) 25° (B) 40°

(C) 45° (D) 70°

Ans. (C) 45°

Read the following statements carefully:

Statement 1: Marginal Propensity to Consume (MPC) refers to the consumption per unit of
income.

Statement 2: As the income increases, the proportionate increase in the level of consumption
is always more than the increase in the level of income.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (D) Both Statements 1 and 2 are false.

The main objective of measuring the primary deficit is to highlight present
(Choose the correct option to fill in the blank)

(A) fiscal imbalances (B) fiscal balances

(C) recovery of loans (D) cash grant-in-aid

Ans. (A) fiscal imbalances

Read the following statements carefully:

Statement 1: Import of heavy machinery from Japan is a source of demand for foreign
exchange.

Statement 2: Financial aid by International Bank for Reconstruction and Development
(IBRD) for landslide in Wayanad (Kerala) is a source of supply of foreign exchange.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (C) Both Statements 1 and 2 are true.

10.

In a two-sector economy, the Aggregate Demand can be determined by adding

and . (Choose the correct option to fill in the blanks)
(A) consumption, investments (B) investments, savings
(C) consumption, savings (D) savings, exports

Ans. (A) consumption, investments
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11. | Explain any two precautions pertaining to the Expenditure Method of estimation of National
(@) | Income in a country.
Ans. Two precautions to be taken while estimating National Income by Expenditure
Method are:
e Expenditure on intermediate goods should not be included as it will lead to the | 1%
problem of double counting.
e Expenditure on purchase of second-hand goods should not be included as it does | 172
not add to the flow of goods and services in the current year.
(Any other valid precaution to be awarded marks)

OR 3
(b) | On the basis of the following hypothetical data: (in X crore)
Year Nominal GDP Nominal GDP
(adjusted to base year prices)
2020-21 3,000 5,000
2022-23 4,000 6,000

Calculate the percentage change in Real Gross Domestic Product (GDP) in the year 2022 —
23 using 2020 — 21 as the base year.
Ans. Percentage change in Real Gross Domestic Product (GDP) in the year 2022-23

_ Change in Real GDP % 100 115
Real GDP
_6000-5000
= ~—=000 x 100 1
=20% Y
3

12. | “Taxation is an effective tool to reduce the inequalities of income.”

Justify the given statement with valid reasons.

Ans. Government can use taxation as an effective tool to reduce inequalities of income,
as it affects the disposable income of people. It may impose higher taxes on the rich and 3
may provide subsidies to the economically weaker sections of the society on education,
health services etc. By adopting these measures, the government may try to bridge the
gap between the rich and the poor. (To be marked as a whole)

13. | Elaborate any two components of the Capital Account under the Balance of Payments
(@) | Account.

Ans. The two components of the Capital Account under the Balance of Payments
Account are:

e External Borrowings which include borrowings/lending from/to abroad by the 2
private sector and government. Such transactions are recorded in the Capital
Account as they affect the assets and liabilities of the nation.

e Investments to/from abroad are recorded in the Capital Account as they affect 2
the assets of the nation. (Any other valid component to be awarded marks)

OR 4

(b) | Distinguish between Autonomous transactions and Accommodating transactions.

Ans. Autonomous transactions are those international economic transactions which are
independent of the state of Balance of Payments (BoP). These transactions are 2
generally undertaken with an ‘economic motive’. Such transactions are called ‘above
the line’ items in the BoP account.

Whereas;

Accommodating transactions are those international economic transactions which are 2
undertaken (by competent authorities) to cover the surplus or deficit in Balance of
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Payments (BoP). These transactions are independent of any economic motive. Such
transactions are called ‘below the line’ items in the BoP account.

4
14. | Assuming for a hypothetical economy:
(i) Autonomous Consumption Expenditure (¢) =X 250 crore
(if) Marginal Propensity to Save (MPS) = 0.2
(ii1) Autonomous Investments (lo) = X 200 crore
Estimate the Break-even level of Income and Equilibrium level of Income, on the basis of
information given above.
Ans. Given, Autonomous Consumption Expenditure () =X 250 crore
Marginal Propensity to Save (MPS) = 0.2
Autonomous Investments (lo) =X 200 crore
Marginal Propensity to Consume (MPC) = 1 — MPS
=1-0.20=0.80
As we know, at Break-even level of income; Y =C 1
Y=c+(MPC)Y
Y =250+0.80Y Ya
Y =3 1,250 crore Ya
At equilibrium level of income; Y =C + | 1
Y = (250 + 0.80Y) + 200 )
Y =% 2,250 crore Ya
Alternate Solution 4
As we know, at Break-even level of income; S=0
S=-¢c +(MPS)Y 1
0=-250+0.20Y )
Y =% 1,250 crore Y
As we know, at equilibrium; S=1 1
-250 +0.20 Y = 200 Yo
Y =% 2,250 crore Yo
(Any other alternate solution to be awarded marks) 4
15. [Read the following text carefully:
According to a report issued by a research organisation, there is a sharp decline in the overall
demand in the economy, particularly in the private consumption segment. This dip in the
macro economic variables, highlights the urgent need for strategic actions to stimulate
economic activities.
On the basis of the given text and common understanding, explain the measure which the
government may take to solve the indicated problem.
Ans. The highlighted issue is deflation. To control deflation, the government may:

e decrease the tax rates which may increase the disposable income (purchasing 2
power) in the hands of the general public. Consequently, it may lead to a rise in
Aggregate Demand, thereby correcting the situation of deflation.

e increase the public expenditure which may increase the level of income in the
economy. Consequently, it may lead to a rise in Aggregate Demand, thereby 2
correcting the situation of deflation.

4
16. | (i) Suppose there are only three firms in an imaginary economy, viz. X, Y and Z. During a
(@) | year, the following transactions took place in the economy:

(D Firm X sold goods worth X 20,000 to Firm Y and X 12,000 to Firm Z.
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(b)

(IT) Firm Y sold goods worth X 11,000 to Firm X and X 35,000 to Firm Z.
(ITT) Firm Z sold goods worth X 57,000 to households for final consumption.

On the basis of the given transactions, calculate the value of Gross Domestic Product at
Market Price (GDPwp) in the economy.

Ans.
Firms | Value of Output Intermediate Consumption Value Added
(in ¥) (in ?) (in %)
(i) (ii) {() - (i}

X 20,000 + 12,000 11,000 21,000

Y 11,000 + 35,000 20,000 26,000

Z 57,000 12,000 + 35,000 10,000
1,35,000 78,000 57,000

Gross Domestic Product at Market Price (GDPwp)

(Any other valid method to be awarded marks)

(ii) Elaborate the likely impact of construction of two new Express Highways on the Gross
Domestic Product (GDP) and Welfare in an economy.

Ans. The construction of two new Express Highways may impact the Gross Domestic
Product (GDP) positively as improved infrastructure generally attracts higher
investments in an economy and may lead to an increase in employment opportunities.
It may also reduce travel time and average transportation costs. Consequently,

increasing the well-being of citizens. (To be marked as a whole)
OR

(i) On the basis of the following data, estimate the value of National Income (NNPgc):

S.No. Items Amount
(in % crore)

Q) Household Consumption Expenditure 800
(i) Gross Business Fixed Capital Formation 150
(iii) | Gross Residential Construction Investment 120
(iv) | Government Final Consumption Expenditure 270
(V) Excess of Imports over Exports 20
(vi) | Inventory Investments 50
(vii) | Gross Public Investments 130
(viii) | Net Indirect Taxes 20
(ix) | Net Factor Income from Abroad (-) 25
(x) Consumption of Fixed Capital 40

Ans. National Income (NNPrc) = (i) + (iv) + (i) + (iii) + (vii) + (vi) - (v) - (X) + (ix) - (viii)
=800 + 270 + 150 + 120 + 130 + 50 — 20 — 40 + (-25) -20
=3 1,415 crore

(i) “All producer goods are essentially capital goods.”

Defend or refute the given statement, with the help of a suitable example.

Ans. The given statement is refuted. Producer goods can be categorized as single-use

producer goods (intermediate goods) and durable producer goods (capital goods).

These goods are used for further production of goods and services. Intermediate goods

are completely used up in the production process during the same year. Whereas,

capital goods are used for more than one year. Thus, all producer goods are not
essentially capital goods. (To be marked as a whole)

e

1Y%

Ya
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17. | (a) Elaborate the process of Credit Creation using a suitable numerical example.
The process of credit creation is based on the assumptions that:
e entire banking system is a single unit.
¢ all transactions are routed through the bank only.
Rounds Deposits Loans Reserves (20%)
[ 1,000 L — 800 200
I 800 4 ——=> 640 160
I 640 4 ——» 512 128
Total 5,000 4,000 1,000
When a commercial bank receives primary deposits (say X 1,000), it has to maintain
some statutory reserves (say 20%). The remaining amount is made available for loans.
The lent sum of money is received back in the next round of deposits as secondary
deposits. 4
Total Deposits = Primary Deposits X ——————
Reserve Ratio
= 1000 X —
0.2
=% 5,000
This process continues till sum total of reserves becomes equal to primary deposits.
(To be marked as a whole)
(b) Read the following text carefully:
"This function of money provides different items to be evaluated against a common standard.
It allows comparison of prices and keeping financial records."
(i) On the basis of the given text, identify the indicated function of money.
(ii) List any other two functions of money.
Ans. (i) The indicated function of money is ‘Unit of account’. 1
(if) Two other functions of money are:
e Medium of exchange. Yo
e Standard of deferred payments.  (Any other valid function to be awarded marks) Ys
6
SECTION -B
(Indian Economic Development)
18. | Read the following statements carefully:
Statement 1: The British policies were accountable for commercialisation of Indian
agriculture.
Statement 2: In the larger interest of Indians, the British rulers focused on the infrastructural
growth of India.
In the light of the given statements, choose the correct option from the following:
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
Ans. (A) Statement 1 is true and Statement 2 is false. 1
19. |Read the following statements — Assertion (A) and Reason (R).

Choose the correct alternative from the options given below:

Assertion (A): Information plays a crucial role in judicious decision-making about investing
in human capital.

Reason (R): Individuals invest to acquire information about the labour market and other areas
such as education and healthcare.

Options:
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(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

20.

Identify, which of the following does not indicate the similarities in the policies of India and
Pakistan in the post 1947 period.

(A) Dual pricing policy (B) Green revolution

(C) Import substitution (D) Mixed economic system

Ans. (A) Dual pricing policy

21.

Identify, which of the following statements is incorrect about the Rural Banking system in
India. (Choose the correct option)
(A) In the post-independence period, a well-structured Rural Banking system was formulated
in India.

(B) Rural Banking system in India consists of a set of multi-agency institutions.

(C) Regional Rural Banks, Cooperative and Land Development Banks are few important
components of Rural Banking system in India.

(D) Rural Banking system in India works under the guidance, instruction and supervision of
the State Bank of India.

Ans.(D) Rural Banking system in India works under the guidance, instruction and
supervision of the State Bank of India.

22,

In the post-independence era, the policy makers of India pushed for ‘self-reliance’ for the
first _ Five Year Plans. (Choose the correct option to fill in the blank)
(A)8

(B)7

(C)6

(D)5

Ans. (B) 7

23.

Production of diverse varieties of crops rather than one specialized crop is known as
diversification of . (Choose the correct option to fill in the blank)
(A) crops

(B) agricultural production

(C) sectoral composition

(D) employment

Ans. (A) crops

24,

Identify, which of the following statements is incorrect about the functions of environment.
(Choose the correct option)

(A) Provides resources

(B) Absorbs wastage

(C) Sustains life

(D) Deteriorates quality of life

Ans. (D) Deteriorates quality of life

25.

Read the following statements carefully:
Statement 1: The Food Corporation of India maintains buffer stocks of wheat and rice as a
measure to improve market mechanism.
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Statement 2: Minimum Support Price (MSP) is imposed by the government to safeguard the
interest of farmers.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (C) Both Statements 1 and 2 are true.

26. |Suppose an economy is experiencing a situation of rise in Real Gross Domestic Product
(GDP), without any corresponding rise in the employment opportunities.
In economic parlance, such a situation is termed as growth.
(Choose the correct option to fill in the blank)
(A) casual
(B) informal
(C) formal
(D) jobless
Ans. (D) jobless
27. |Read the following statements — Assertion (A) and Reason (R). Choose the correct alternative
from the options given below:
Assertion (A): Excessive regulation of permit license raj prevented certain private firms from
becoming more efficient.
Reason (R): Private sector wasted a significant time in obtaining licenses rather than
enhancing product quality and international competitiveness.
Options:
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).
28. |Elaborate the economic reforms in agriculture sector undertaken by China.
Ans. Under the economic reforms initiated by China in agriculture sector, commune
lands were divided into small plots, which were allocated to individual households, for
use and not ownership. They were allowed to keep all income from the land after paying
stipulated taxes. (To be marked as a whole)
29. |“Under the British rule, India underwent systematic economic exploitation with its resources
(@) |and wealth being diverted to Britain.”

Justify the given statement with valid explanation.
Ans. During the colonial period, India's resources and wealth were exploited and
diverted to Britain by transforming the country into exporter of raw materials and
importer of finished industrial products from Britain. Moreover, the export surplus did
not result in any flow of gold or silver into India. Rather, this was used to make
payments for the expenses incurred by an office set up by the colonial government in
Britain, expenses on war, fought by the British government, and the import of invisible
items, all of which led to the drain of Indian wealth to Britain.

(To be marked as a whole)

OR
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(b) | Appraise the Navratan policy adopted by the Government of India in the reforms of 1991.

Ans. In order to improve efficiency, infuse professionalism and enable them to compete
more effectively in the liberalised global environment, the government identified a few
Public Sector Enterprises and declared them as ‘Navratnas’. They were given greater 3
managerial and operational autonomy, in taking various decisions to run the company
efficiently and thus increase their profits. The granting of Navratan status resulted in
better performance of these companies. (To be marked as a whole)

30. |(i) Distinguish between human capital and physical capital.
(@) |Ans. Human capital refers to the stock of knowledge, skill and ability imbibed in the 1
owner of the same, i.e., human capital is inseparable from its owner. It cannot be sold
in the market, only its services can be sold in the market.

Whereas;
Physical capital are the assets (plant and machinery, building etc.), which are tangible 1
in nature. It is separable from its owner. It can be transacted in the market.

(i) Describe ‘LPG’ and ‘Gobar Gas’ as strategies used to achieve sustainable development
in rural areas.
Ans. Liquified Petroleum Gas (LPG) is a clean fuel that reduces household fuel pollution
to a large extent and minimises energy wastage. For the gobar gas plant to function, 2
cattle dung is fed to the plant and gas is produced which is used as fuel while the slurry
which is left over is a very good organic manure and soil conditioner.

(To be marked as a whole)

OR 4

(b) (i) Critically appraise the micro-credit programmes in rural India.
Ans. Micro-credit programmes fill the gaps in the formal credit system. Due to non-
availability of collateral a vast proportion of rural households go out of the credit 3
network. Micro-credit system has brought these poor households in the ambit of formal
credit system by providing them loans at a concessional rate of interest. However, it is
alleged that the borrowings are mainly confined to consumption purposes.

(To be marked as a whole)

(ii) State the meaning of sustainable development.
Ans. Sustainable Development is the development that meets the need of the present 1
generation without compromising the ability of the future generation to meet their own
needs.

31. |Read the given text carefully and answer the following questions:

In response to the problem of rapidly rising population, China introduced the ‘One Child
Policy’. The policy restricted couples to having only one child. This policy helped China to
limit the population growth.

This policy led to significant consequences, such as an increase ageing population, gender
imbalances due to male child preference, and social challenges for single children, etc.

This policy was relaxed in 2015, allowing all couples to have two children and further relaxed
to three children in 2021.

Overall, while the One Child Policy achieved its primary goal of controlling population
growth, it also created a complex set of demographic and social challenges that China
continues to address today.

(a) Explain the consequences of implementation of the One Child Policy in China.
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Ans. Implementation of the One Child Policy in China led to a drastic fall in population 3
growth rate in China. Besides, it had various adverse effects like a higher proportion of
elderly population, gender imbalances due to male child preference and various social
challenges for single child, etc. (To be marked as a whole)

(b) State any one reason for the implementation of the One Child Policy in China.
Ans. One Child Policy in China was implemented to curb the rapidly rising population. 1

32. | State and elaborate whether the following statements are true/false, with valid arguments:
(@) In the Indian rural landscape, agricultural diversification has emerged as a solution for a
lot of farmers’ problems.

Ans. True. There is a greater risk in depending exclusively on farming for livelihood.
Diversification has reduced the risk from uncertainties in the agriculture sector and 2
has provided productive sustainable livelihood options to rural people.

(b) Informalisation of workforce in India, has increased various concerns on the front of
employment generation among the youth of the country.

Ans. True. Informalisation of workforce has increased concerns regarding job security 2
amongst the youth. There is a problem of lower earning and lack of social security
benefits.

33. |(i) Discuss briefly, causes and consequences of tax reforms taken by the Indian Government
(&) |during economic reforms.
Ans. The causes of the tax reforms initiated during economic reforms in India were to
curb tax evasion, encourage savings and voluntary disclosure of income. Additionally, 2
indirect tax reforms were necessitated to facilitate the establishment of a common
national market for commodities.
The tax rate rationalisation during the reform period, aimed at yielding larger tax
revenue but did not result in an increase in the tax revenue. Moreover, tax incentives 2
provided to foreign investors further reduced the scope for raising tax revenues which
adversely impacted developmental and welfare expenditures.

(Any other valid cause or consequence to be awarded marks)
(ii) Distinguish between Multilateral Trade and Bilateral Trade.
Ans. Multilateral trade is the trade by a country with more than two nations to exchange 1
goods and services.

Whereas;
Bilateral trade refers to the exchange of goods or services between two countries. 1
OR 6

(b) [(i) “Import substitution policy, if not applied carefully, can prove to be a double-edged sword
for any economy.”

Do you agree with the given statement? Justify your answer with valid arguments.

Ans. Yes. Import-substitution policy aimed at replacing imports with domestic
production to protect domestic industries from foreign competition and to save foreign
exchange.

However, protection from foreign competition may do more harm than good. The 3
domestic producers in the absence of a competitive market won’t have any incentive to
improve the quality of their goods. In turn, consumers may have to purchase low quality
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items at a higher price. Hence, import substitution policy, if not applied carefully, can
prove to be a double-edged sword for any economy. (To be marked as a whole)

(if) Distinguish between stabilising measures and structural measures, as taken up by the
Government of India in 1991.
Ans. Stabilisation measures are short-term measures, intended to correct some of the
weaknesses that have developed in the balance of payments and to bring inflation under
control.

Whereas;
Structural measures are long-term measures, aimed at improving the efficiency of the
economy and increasing its international competitiveness by removing the rigidities in
various segments of the Indian economy.

1%

1%

34.

Read the following text carefully:

Indian labour market indicators have improved in the last six years, as per the Periodic
Labour Force Survey Data. The unemployment rate has fallen to 3.2% in 2022-23. Rising
youth and female participation in the workforce present an opportunity to tap the
demographic and gender dividend. The factory employment data exhibits the bounce back
of the organised manufacturing sector in FY 2022-23 with rise in employment and the
upscaling of factories.

The net payroll additions under EPFO have more than doubled in the past five years,
signalling healthy growth in formal employment.

To generate and sustain quality employment, agro-processing and care economy are two
promising candidates.

On the basis of the given text and common understanding, answer the following questions:
(a) State any one significance of rising youth and female participation in the Indian
workforce.

Ans. Rising youth and female participation in the Indian workforce can provide an
opportunity to tap the demographic and gender dividend.

(b) Identify any two sectors which may be highlighted as promising for generating quality
employment in India.
Ans. The two sectors which may be highlighted as promising for generating quality
employment in India are:

e agro-processing

e care economy.

(c) Elaborate the meaning of disguised unemployment with the help of a suitable example.
Ans. Disguised unemployment refers to a situation when the person seems to be
employed but is not contributing to the output i.e., his marginal productivity is zero.
For example, suppose a farmer with four acres of land and two workers can produce
100 quintals of wheat. Even if he employs one more worker, the total output remains
unchanged. Hence, the contribution made by the additional worker to the total output
is zero and thus can be said to be in a situation of disguised unemployment.

(To be marked as a whole)

* k %
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Marking Scheme Hindi Medium
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination,2025

ECONOMICS (SUBJECT CODE - 030)
(PAPER CODE - 58/4/1)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and due marks be awarded to
them. In Class Xll, while evaluating competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers. These are in the
nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be zero
after delibration and discussion. The remaining answer books meant for evaluation shall
be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

Evaluators will mark( \ ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totalled up and written in the left-
hand margin and encircled. This may be followed strictly.
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8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view
of the reduced syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e \Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e \Wrong question wise totaling on the title page.

e \Wrong totaling of marks of the two columns on the title page.

e \Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totalled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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3 FiorT =< wremy
iR wpa aféfthade uier, 2025
AYRA ( fawy H1s -030)
[UY-UF BIS : 58/4/1]
3P 3i: 80

Yy

Jruféra IR/ g fag s

dg ,$:
Ay rdemd

FafeRad HuHl &1 gD eI B ;

FYT 1: THR ) sifeggwyr H vaferd TpifdeRy 3idvTd ol afd &ed &
forg, Y4t @R il B bl B

FY7 2. WHR o IR T RBRT Ul (G-Sec) DI foh! gRT, SUBIfddRT SicRTdd &
S B bl B

feu U Syl & Sl §, Fufafad # @ I8t fdwen o1 9gq Sifv

(A) BYT 1 T § 3R YT 2 T ¢

(B) T 1 3 § 3R HYF 2 T g

(C) BYT 1 3R 2 SHI I T

(D) BYT 1 3R 2 I 3TA B

IR (D) BYF 1 3R 2 ST ST 2 1

g ANTd R Jhdd G gl (GVAr) S T Dl UTtd DA o AT, I16iR $Id IR Fhd Jed

JiS (GVAW) T/H 8 ST |
(Ret =il 1 il & forw F8T fashed 1 9 B
(A) IR, el

(B) HeUglW, YCHUI
(C) Faa smaer &, SiisT

(D) FHad 3UTe &3, gl
J<R: (D) a9 srveef #1, geran

fFeTRad Yl T SHTTYd ST BT
$ﬂé7:%ﬁ$6ﬁﬁ,%6ﬁﬁéﬁ?ﬁ%ﬁﬂ%%ﬁﬂ@%%%@ﬁmwm
EISIE!
Py 2 o a¥qy, 3 IXQE el &, S fordll 1Y Y PR §RT JUGT (subsidised)
R W IuARH BS ST § |
feu U Syl & Sl §, Fufafad # @ I8t fdwen o1 9ga Sifv
(A) PYT 1 T g 3R HYT 2 3T B
(B) HUT 1 3T g R HYT 2 I g
(C) HYT 1 3R 2 GHI T &I
(D) BYT 1 3R 2 I 3T B
3ITR: (D) YT 1 3R 2 I AT & 1

faf T o vomelt % sfaria, et dop, fad=h fafma ([@am R & T = g
ﬁn’%‘:&mw%l (e =i &t gfd & o Ugt fashed o1 T ST
(A)

(B) T

(C) gsferd farelt

(D) Ui 7 ]
I : (C) uSfea faet

iR wUAT - THBYUT (A) 3R BRI (R) BT 3TIT BT
i fau ¢ fawedl O 9 Te! fadwed &1 9 HIf
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BT (A): T IR HfGIT/HUHA DT /AT TR SHRITU fhd I € |
PRI (R): TA& B & YA BT a1 [l 3T ShTg IR IR el [T S Favell 5|

(A) Py (A) 3R BRI (R) SHI T & 3R BRUT (R), 3HHYUT (A) BT el RS 8
(%B) SHBHYT (A) 3R BRI (R) SHI T &, AT BRUT (R), HTHBYUT (A) BT el ARST 7T
|

(C) HBYT (A) T 8, AT PRI (R) 3 T

(D) ATHHYT (A) 3T §, Afhd HRUI (R) I &

IR (A) TUBYT (A) 3R BRUT (R) ST G & 3R PR (R), FUBYT (A) B TEt
ST &1

6. I & Rgid & &I?ITTH T Xar (Reference Line) WW@%?[TI%H@'—@@@[
ToRA aTal Ues Treft 31 g | (e =M &1 gfd & foe w8t fadhed &1 9o Sifoig)
(A) 25° (B) 40°
(C) 45° (D) 70°
I (C) 45°

7. | FEfaRed Sy &1 SFYde S B

Y 1 qHd STHIT FgRT (MPC) ¥ AT Ufd 31T SH18 STHNT U 5

i@ﬁ%ﬁ%ﬁq@$m' ST & TR & AP Jig Fed 31 & TR J gfa
|

feu T HyE & s H, Rufefad A T Ist fase o1 T Hifore

(A) BYUT 1 I g 3R HY 2 3T 8

(B) BYT 1 3T & 3R HYT 2 I g

(C)PYT 1 3R 2 G I B

(D) BYT 1 3R 2 I 3TA B

I : (D) PUT 1 aﬁ?zaﬁ"—ﬁmél

Ui °1C & AU &1 T 3e¥9 IaqM TR &M Hfad HAT G|
(e =y b1 Ufef % forQ et fareped a1 =i I

(A) farehta srigerT (8) faitg Hger
(C) BUN &I Il (D) FTh G TgTIdT 3aM

ﬁy%rf@awuﬁwwmw&rwﬁm

Y7 1: WU ¥ U AR-RY &7 3mard fae=it gar ot 1 &1 U Fd

Py 2 AGATS (@) H yTIa & o sfarga gAfaiur g fasr o (1BRD) gR1 <
e, fae=h ga1 3t 31gfd &1 Ue Hdid |

feu e YAl & 3idies |, Fgfeifad # 4 I8! faswey o1 999 Sifoig :

(A) BYT 1 I g 3R HYT 2 3T B

(B) HUT 1 3T g 3R HYT 2 I gl

(C) YT 1 3R 2 GH TI &I

(D) BYT 1 3R 2 I 3TA B

I (C)PYT 1 3R 2 AN AT 2|

10. | U fg-&ig srdooamn & waw A g & IR gRT AUid @t o
Tl g (et = &t gfd & o g faded &1 oo Jifom)
(A) STHIT, fAaw (B) Fa=r, 5=
(C) IUHNT, S=Id (D) 534, fafd

IR : (A) SUHNT, Faw

fob et &1 H 1PN 31 o Sfeber b1 oy ot § Haiferd fobgl ol AraeTi=aT sl e ifery |
I: o0y fafer gy wdta ema &1 srgame wd wHa e @ wawnfet srdt ot
afRe:
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o Had! aeg3il IR fPT T o0 P AW 8] [T ST A1 F4ifeh, 394 aIgst
T S GHET A gt
o R IS & 9 W [ Bl AT g1 (BT ST AL TP, I8 a1 a9
H gegaif ok Jareii & yare & =nfire ¢t grar 21
(34 ot Sy wrauTt ¥ g oft s ug fPe et 1)

3ryar
fafoiad sreafe siiesi & MYR W
& IS )
g A GDP A GDP
(3MYR 9 Bt BIFd T FHIRTG)
2020 - 21 3,000 5,000
2022 - 23 4,000 6,000

2020 - 21 B YR T8 HHd T, T 2022 - 23 H IRAfAH bl I 3G (GDP) H Uf=id
URacH &1 0T Biforg|
ITR: a4 2022-23 & SR IRATAP THd °vY ITG (GDP) H wfa=ra ulad=
_ 9Rdfd® ¢pp HuRadd
T 9rafd® GDP

_ 6000-5000
T 5000

x 100

x 100

=20%

12

12

1%

b3

12.

"3 B SHFATSN D HH B P T HAUT Th UHTA STHRUI g 1"
Y HRUN gRT AT 7T HYF o1 3o Rig S|
IWR: TIBR 3T B SRAHTATSH Bl HH B & T HIIYTH P Th YHTH! IUBIU &
FU A IUUNT B bl 8, T T8 @l 31 YIS 3T B YHIAT HdT 81 TRPR Ut
T IR I B A Ghdl § 94T U & 3MiAe U A AR a7 B e, @y
Jqrait 31 TR IuSH e B Pl &1 59 IUTHl B AUATHR, PR Ut a1 A &
& &) @rs F uTe? F1 YA H APl g

(X SR DI TP 1Y 3ifpd far s 1)

YA Aga @Td & AT d ol WTd & [ohal Gl Ted! &I R Hifod |
IR: YA Age WTd & iaiia Yot Wid & 3t g o
. 9158t B, R Fieft 8 SR WRER gRT fad=n A7 Y BT F1 SMeH/ U
A1 AfEfd g1 8 a9-¢7 Uo 9d | gl fPy od § e, 3 g a1
gfvufl iR ¢eIial & yuIfad vd §1
- fae=m & yrw/fad=r # fvg g Fra=n gft @ra A g e 9ira € F4ifes, @ g o1
ufEufal s yvifad 3d 1
(&= freft du ged & g off oiep weA fpuami 1)
3T
W deHl d JERISH d-g B Siak WY B
SW: WHW d9-¢7 3 SiRfgiy anfdfe d49-37 8, &t Yar wgad (Bop) =t fufa @
Wad gd 81 3 A9-3 IrHTaa: e Sexa’ & fou oird &1 ¥ @9-39 &1 BoP |rd |
IGT Y HUR B US HgT A1 g et
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WIS -3 & SaRig anfies d=1-37 €, St YIar= Wge (BoP) H ey / |re
! e ¥ g em siftreTial grn fre o §1 3 3937 R off anffe sixa @
e §id 8 1 0 A1-37 T BOP WA | @1 | - $t 7S g1 o1t g

14.

TP Bl IFHaR & e A o o
(i) T SUHRT T (c) = % 250 TPRIS
(i) HHHid Sod Ugfi (MPS) = 0.2
(iif) TR 9T (1) = % 200 IRIS
U I & YR TR JH-TR 3T T U 3T & TR| BT SIHH 8y
IR: T T B, Taraw SuURT oY (¢) = ¥ 250 FRIS
AiHia sad ughi (MPS) = 0.2
TR 9T (1) = T 200 FRIS
Hid UM ugii (MPC) = 1 - MPS
=1-0.20
= 0.80
ST P EH A E, M F TR U; ¥ = C
Y = ¢+ (MPO)Y
Y = 250 + 0.80 Y
Y =% 1,250 IS
A FAATERUT; Y = C + |
Y = (250 + 0.80Y) + 200
Y = % 2,250 IS
IPfers IR
ST fH S, M F IH-TRW; S =0
S = - ¢+ (MPS) Y
0=-250+0.20Y
Y = % 1,250 PR
ST fr a8, HgaT WR; S = |
-250 + 0.20 Y = 200
Y = 32250 FRIS
(3= freft Qu IR & e off oiw we fpu wmd )

b3
b3

b
b3

b
b3

b3
b

15.

faferfad ey 31T DIV : _

TH MY TR GRT e Rurd & g1 a1 § 7 srfouawun & gy A, faRivsy fAh
IuHNT WS T, g fiRTae ome 81 9gg sififes ==t & g o, enfdfes nifafafdal o miemfea A
F foru JurHifae Priafedl &) dopTel STa<dhdl B URdféd Bl

faT T 7=y YT IR IE & SMYR R, 39 IUTT &1 ARSAT HIfoTE foTg TRBR b fad THIT
B! 31 B P 1L 3T Tobell B

IR SR T § a1 #Y Yhfad Iawm uwpifa 81 sraawifa &1 fAafa 33
P forg, ReR FufefEd $ed 31 gl 8:
o P BI R A FH B Tbdl g IR 3 s=a1 & g1l # UHisg 3y (54 i)
# gfx 8 Jdt 31 RvmEEY, 391 99 9 # gie 8 g@dl 3, e
qEpifa ) fRufa & fFAifaa fear s awar g1
o d® g ¥ gix Y Twdl ¢ o srferawn § o 1 wR 9¢ 9adr gl
TRUmTRaEY, 399 99T °i § gfE 3 gedl 3, o srwifa ) fRufa «t
frifaa foean o gar 21
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(i) | T 36, Uep dpreuiier rfaaeiT & Fad dF BH X, Y I Z 8

T I8 & RM, Srfaraw & fFgffad aea g mu '

() U X GRTTH Y &I ¥ 20,000 AT HH Z BT % 12,000 & T BT H1d Tagh! fa1 T

(Il) H Y GRTHH X &1 ¥ 11,000 TUT HH Z PI % 35,000 & T BT H1d Taeh! a1 T
(I1l) B Z GRT TR I % 57,000 & Yed HT ATA i IUHIT & forg faept fosan |

U T A9 & SR WR faaRiT §, S6R Jod IR &b d °-e 3TG (GDPyp) & Jod Bi

T SIS
3R
BH | SdGA BTN aegadl SUHRT T ae+
@ #) @ #H) @ #)
() (ii) {@) - (i)}
X 20,000 + 12,000 11,000 21,000
Y 11,000 + 35,000 20,000 26,000
V4 57,000 12,000 + 35,000 10,000
1,35,000 78,000 57,000
TR & UR 5 d T SIS (GDPuwp)

(3 Tl Gy IR & forg +ft 3fep g b s 1)
(if) &I =TdT avTE AR (Express Highways) & 0101 &1 fasdll sidfoqai o Wad o 3G
(GDP) @ 10l TR TS dlel YHTfad wuTal &1 fawgd sare eifoig |
SR: G T gaRit AFT & i § T%d 9 3G (GDP) TR ISHRTAS YHT US
THdT ¢ TP dgaR MUTRS I | M0 AR W rfoqawyt ¥ ifte fFawr smeffa
BT @ 3R AR F Sraw: A gfQ 8 Tl &1 S/ I BT 9T 3N 3 d qfae
arTd ft H1 8 Tdl 31 uRumiRaRey, AFiie! & weamr ® gig it

3T
(i) FEfRad sffers! & SMYUR TR, AT 31 (NNPrc) &b Hed BT 3FHM T13T ;
& He El

(Z BISH)
0 TeR| FUUNT g 800
(ii) T TR Rt Yol fAmtor 150
(i) THd AR A Fa=r 120
(iv) WDHRI HfH IUYIT g 270
v) ST HT FHaTd WR S 20
(vi) ﬂmﬂ?ﬁ (inventory) g 50
(vii) I d ITdel-ep A 130
(vii) | XS UL TR 20
(ix) ISR ¥ U Y& e 3 (-) 25
(x) R Yol FHT IUH 40

[CAS LS
TI'@'Q'GI'I'CI (NNP:o) = (i) +(iv) + (ii) + (iii) + (vii) + (vi)-(v)-(x) + (ix)-(viii)
=800+270+150+120+130+50-20-40+(-25)-20

=%1,415 PRNS

(ii) gt e Ty Sifard w0 § dofid oy gt g1

SUgad JTEXUN & Weradl ¥ faU T &Y= &1 90U+ 3ra1 Wad Hifog|

IWR: AT 7T FY 1 W fhan 91T 3 | ST aeg3N Dl ThA-SUANT STGP axg il
@eaad! avgen) 3R fedTs,; Swure® avgail (qeiiva axgail) & ©u | auifepa fbar o
TPl g1 9 IS BT ITUNT 3T g3t 3R Jarei & Iaured & g fovan wmar 21

e e e )

1%,

b3
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ATl aegeii BT ITANT I 94 & SR SeuTe- ufehar ® gt avg o forar siran 8 | siafs,
GoiliTa aRg3ii BT ST U 94 & Siftre v a@ fa1 9 81 59 UK, 94t Sdes
Y et ¥9 A Golra a1 81t /1

(IR SR D! Tw A1y Sifdba fearamw o)

17.

(@) SUIF] TEATHD IaT6-0N GRT URG o UiehdT B AR I THSRU|
SR WA ol B Uichar FrafeRa ararsii ux s &

- wquf 3T yomeht ge TS 31 ,
- W 99-39 Pad 9 P H1AH A g fHu o &
Srg SHIY BT 3RI&d B (20%)
I 1,000 800 200
T 800 “—T—> 640 160
i 640 T » 512 128
Total 5,000 4,000 1,000

I PI5 qIITSUS db YA ST (|1 SfSIE 31,000) YTt T 8, A 39 $ AUIA®
IV (A AT 20%) TC IGET USdT 81 Y A BT & U Iudsy H1S St 2
Gwﬁﬂéﬂﬁrm%?amﬁa?ﬁmm%wﬁmm@?ﬁ%l

P STHIY = YTYFHS ST x

= 1OOOXE

= % 5,000
g UfhaT a9 a% RI Il @ OIF a9 URIUS STHT P SARTEIT I & TRIaR 81 81
&Gl (X IR &I T 91y 3iferd frarwme o)

@) FafaRad e &1 FFYd® SieH i -
"IG1 &1 I8 B U A TS & AT Hedidh-1 1 o arel! [afNa Tl &l SUdsy BRIl
21 U8 Hedl 1 ol A d iy Repida T@a ) ergAfd aar g1
() RUTTF MUR R, Gx1 & Jbfad ST & UgaH Hiford |
(i) TP [Pl al 3T Bl B! GUIaG DI
JTR: (i) 5T DT AP AP PR - AW DI FHI
(||)H§Ta?33f3f:q$'l'€f%
ST TS| .
WWWW| (3= forelt Ay rd ¥ g o siep e fpu wTd)

arzf‘amaqm

b
b

TS 9
HRdH nfde faera

18.

FEfRId Sl &1 AMYdD 37T BT ;

FY 1 YR $HY & Faariiel & fore fafewr fifaal Smier off|

FYT 2 HRA! & TSP fgdl & forg, fofewr Il 7 URd &1 3emies-aaT & fde IR
& hiad fdbar Tl

fau T Hy= & sdie H, FMufeiad H T Uet fddhed &l 99 SIfoe

(A) BYT 1 I g 3R YT 2 3T g

(B) T 1 3 § 3R HY 2 T 5

(C) BYT 1 3R 2 S I T

(D) BYT 1 3R 2 I 3TA B

IR (A) BYT 1 A ¢ 3R FYF 2 3 g
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19.

fFgfeRad wUAT - THBYUT (A) 3R PRI (R) BT 3TIT BT

<t fau e famedt # 9 el fdbed o7 7 L

SHHFEYT (4) - Ad Yot & fFawr § faaeyuf fAufg a9 & fore gem deaygut yftret fRurd g1

FRU (R) : AN 9 SISIR 3= &1 il FRIET TUT WA & IR T G YT I & ferg

EERCTGRS

ICETCE

(A) HBHYT (A) 3R BRUN (R) G T & 3R BRUT (R), SAHBYUT (A) Bt Tg! AR 8

(%?) SHBHYT (A) 3R BRUT (R) SHI T &, AfhT BRUT (R), ATHBYUT (A) BT el RS 7T
|

(C) HBYT (A) T B, AT PRI (R) 3T g

(D) AHHYT (A) 3T §, Afhd HRUI (R) I &

IR (A) AFHBYT (A) 3R BRI (R) T T & 3R BRI (R), fUPYT (A) BT TET
ST &1

20.

UM I P, FafeiRad & ¥ o9-91 1947 & UYTd YR d Ui &1 ifaat & JHT=d
P13 FeTRar g |

(A) 3l Bia-Fufor Hfa (B) B wifd

(C) STTd Ufa=ITaA (D) Trf¥a srfeawr el

IR: (A) St piHa-Faizor Hifa

21.

UgdM HIToTE foh, HRA &1 JrHTor Sfdh yumelt & IR # Fyfoied d 9 &H-91 $49 o@es|
(ol [dhed BT Tgq HIfoT)

gﬁﬁwmﬁmﬁ,wﬁwwwﬁwwwmmﬁﬁw
T T

(B)wﬁwwmﬁ@-@@wmww%l

(C)Q?W%,Wa@ﬁw%uﬂﬁﬁm' JuTTell & $& Heayol

ed gl

%%Hﬁwwmumﬂuéz%%mﬁ%auﬁwémm
|

IWR: (D) URT | yreftor afT youreft uRdg Re s & wnfexq, Adwe g wiagw &

Sfafd srf Bl B

22.

AT IWId A H, URd & i Fafarefiauym  dgaufy aemmsit & fag
JrAFHRAT R a9 fear (TYad =i @ gfd & forg 9t faswed &1 997 Sifor)
(A)8

(B) 7

Q6

(D) 5

31R: (B) 7

23.

! foRiY Bd & RIF W, Bl &1 A fw! &1 Sdred & fafaeiapur & &u
T ST ST gl (e =i &t gfd & forg U} fashed o1 T Sifr)
(A) BIAl

(8) PV I

() T

24.

UgdH PifoE [, Tafarur & ol & e | Fafafed 3 9 oH9-91 59 swerg |
(To! fadhed BT g Hifolg)

(A) I IS BTN
(B) UMY FERNT BT

XIl_030_58/4/1_Economics_2025 # Page-9




(C) SitaH ST G-
(D) SiTa 1 TUra BT G HIAT
I : (D) Sia-T BT UIEIT BT g HIAT

25.

fafeiRed HuHl &1 g eqa- Hifo ;

Y 1: YR W1 T, STeiR o3 &1 YURA & IU™ & FU H 1Ig G I1ad BT I Kb
N TTAT B |

FYT2: gﬁanwahn@(Msp),WmW$%ﬁaﬁi&n$mﬁafhﬁmm

|

fau T HyET & sieie H, Muferfad A T Igt fdsey o1 T HIforg :
(A) PYT 1 T g 3R HYT 2 3 B

(B) HUT 1 3T g R HYT 2 I g

(C) PYT 1 3R 2 G T B

(D) BYT 1 3R 2 T 3T B

IW: (C) PYT1 3R 2SN IA 2|

26.

A Wi fos, Tap Srdegawt o foheit Sferd ISR & 3fawR! | gig o, aRafdd ddhd uvq,
IdTE (GDP) H gfg @1 U &1 T o 381 7|

fdfes Hror H, Aft fufa & gfg FeT ST |
(Rt I &t il & forg Tl fdased &1 T Pifor)
(A) HHRED
(B) SFTETRS
)
(D) AR fagH
IR : (D) AWR fag=

217.

fafeiRad HuAT - 3IfEHU (A) 3R HRUT (R) BT 3(e0TH HIT|

= fau U fawedl d T &l fdewed &1 o Sifoe :

#me):wﬁgzamw$&mﬁﬁnmﬁwﬁﬁﬁuﬁﬁuﬁwﬁaﬂﬁﬁ
|

PIRYI (R): TSl &3 A IeTe 1 I[urerd d SHaRRISIg ufcrasicrard # gfs o1 & soimrg

a@ﬂm@rﬁn@a&ﬁwmmw

(A) &rmzﬁuq(A)&ﬁ?W(R)aﬁw%aﬁ?W(R) MBYT (A) DI TS TR B |
(%B) FUBYT (A) 3R HRU (R) GFI T §, Afded BRUI (R), HTHBYT (A) Pt et ATHT FgT
|

(C) HBYT (A) T 8, Afh PRI (R) 3T g

(D) ATHHUT (A) 3T §, Afhd HRUI (R) I B

I : (A) MFUBYT (A) 3R BRUT (R) 1 G & 3R PRUT (R), FUBYT (A) BT TEt
ST &

28.

I GRT PN &7 T forT U i JURT 1 AT Dol |

SR 99 gRT Y &7 W Ry P 7y anfifes gurl & siavfa, argeiRie yfy & s1e-
Bic y@s! # faunfora forar man, 8 SreT-3ret ufari &t smafed fvar mar (ua &
e 7 & T & forg) | 32 v &% &1 Yiad @31 & 916 YfH | g1 arell I9s
3T Y 3T URT TG 1 SrFAfd & TS|

(IR SR D! Tw A1y Sifdpa fearsmg o)

o= I & SfaPid, HRA &1 Ay 3T TMYUT BT THAT HAT UST, 3D 1 1L
g ¢ TugT fres gadiaid feu e g
U T YT B 9y W¥HE gRT Y By

IR: NUFARTE BT F SR, HRA P JATYHT 3R JUST BT GIgd HIP fore- A fear
W|Wﬁﬁm%mﬁﬁhﬁﬁmmm%m%w

o uiafda f&ar man | sa sifafye, Frafa sty g9 & sasg ot yra & 9 ar @idt
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BT DI UdTE T8I §3MT| Ifewp, 9 U= BT IUANT SYATRID DR gRT HRA F TRMET
TR 5T U T, gl R oag YT ey aEgsi & MaTd & fore fvan wan, forrds sRur
YR g o1 foe ¥ sruarg g1 S | (R IR &I TP 1Y ifdrd fHar = )
3T

1991 & GURI T YRA INBR GRT HUATS T8 TdRd fd BT e Hitod |

IW: 1991 & URI H, PR A, O AP &7 & STH S UgA DI, qYUT, & |
JUR, AEAAFAT H NAIed B R IR AP arararor A ifte gurdt & J
ufeequf S o 94\ 991 84, S Havd’ Uiftd fbar| 399 3l &1 FRaaga® gaq
R AU B Fe & g, 37, fafia fFofa a9 & st we et 7 ularast warawdr ue™
P TS| TIA BT gol fT 1 A 39 ITHI BT Ye=iH dgar gai|

(X SR DI TP 1Y 3ifdhd fHar sy )

(i) ATa gott @ Hifdes Yot 7 Sfdr Wy S|

IR: HIFG Yoit A a1 39 9, IR 3R ahaar & HeR 4 3 o 39 Wl # Jwnfea
2, 3rufd Ua Yeit S Wit F Sifaursy 81 39 99iR o sy fasea =8 foan < gaa,
Fad gD Aarsil $1 R | vy fawa far s gear 3|

S,
Wifa®w goit @ Julrl (w@ie iR a=ii=s, yaa 3nfe) & < wopfa & gd €1 a5 eru= @t
A 3T 31 UPT ISR | Hy-faspy fHur o Iar 21

(i) ITtoT @ H “LPG' @ TeR T T YR fdeh T UTed &3 & ot SUTRT & S areft Rurifa
& ¥U # gl S|
IWR: ‘LPG’ U XG5 U ¢ Ol TN SU- & UGWUI B HTHI §G dP B Hdl § SR Kol
F AU B HH BT ¢ | MR 1 Wie it gar & fore, TafRml & MR &1 wic & sren
STAT 8 3MR A9 §918 ST @ ForaepT IuAT $99 & U A f5ar Sirar @ 9T S 99 S1dT §,
9% ARV U Igd 33T Sfdd Wig 3R o1 Hads g1

(X SR DI Tw 91y Sifdba fearwmw 1)

3rYar

(i) T HRA H Y&T-9RI (micro-credit) BRIHHI BT SHTAHATHS Jedidb Bifor|
IR G&H IIE HRIHH SNUATRS BT YoIrel § Mg Sl S GRT e 3 | BUMYR Bt
U F SR ITHIVT TRERT HT TH TST YR ARG ATRIT F 9163 &1 o1aT 81 J&H I
womert 31 e uftari & Il e @) W) B ueH FRE AUEiRS BT yodt &
SRR H ATl 81 gTdifes, Tg SMera-T ®1 9l 3 {9 B0 81 T U | SUHNT 34l @ §t
Hiftra g1 (X SR & TP 1Y Sifdpd frar sy )
(i) YRt faHmr & 31 o1 e Hifor|
I YRUY faeprT ag faer §, sit Hidt it 1 ervyar @ gwsiar fee foar adur did
Bt ATARGDHATSA BT TRT HAT 3|

31.

U 7T TR BT YA 3T PITOTT G FHICTRIT Uil o IR alfol -

g TIfd O 3T SHEe & Ufd-3WR 8, 949 9 Ted Jae HAifd gRY &t o 39 Hifd &
W‘fﬂg"l?ﬁ(couples)ﬁ%ﬁ@ﬁﬁﬂﬁﬁﬂﬁﬂﬁ@ﬁ%ﬁ@tﬁléﬂ:ﬂﬁleﬁﬁ:{
D1 TS gi B (AT B & ggraar o i

39 Hifd & Heayul uRumm +ff IO gY, S b gl &1 3ifie ST, GAl & urUfiear o
& HIRUT feliT SRige Ud Uohd YdM! & fore wHTioIes gHifaar St |

2015 ® 39 Hifa & <ia <1 718, for ot el &1 &) e U1 v &1 At i 718 o
2021 H 3T 3R AT Fxb I Fam! aob B fear w1

$d AR, Safd Thd Jae Aifd = ST 9ig 1 FREd S & 30 Uil deg &1
T fohan T, TR 399 SHIRI®SI @ oI gHfadl &1 U Sfed g o Iaa farar

orTesT I A o it R R
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@) I & Tehd HaM ifd & SRaa & URUIHE! & gaesu|
w#ﬁmwﬂﬁ%mﬁwﬁ%ﬂqaﬂmq@aﬁmﬁﬂmmﬁl
frg, 39 ifd & ®3 ufapa yuE W gu, SN %, g S8 &1 39 U,
muﬁwéﬁ%wﬁmwawmwﬂsmﬁﬁawﬁmg%m
e (X 3T ®I Th 1Y 3ifpa fear 9w 1)
(@) I H Tehd Y ifd & SRaa & [t U HRUT BT I@IG HIToTT |
ﬁw:iﬁqﬁmﬁamﬂﬁr?ﬂawﬁrﬁaaﬁgﬁmwmm%mmﬁ
Uil

32.

AR a1 g1, 3 d fagd e Sifore i ufoRad 3= 9 § a1 o -
@ugﬁawmmﬁ,wﬁﬁ%ﬁwmﬁﬁwaﬁésﬂmméswﬁ
TR

IW: | Had PY &F YR W AP FAM & QT 559 P g omar 2|
fafadhiezor = oY &= & siffiaarsit @ g1 ara Sifew 3 w9 far § iR urdior aril
P TGP YR SeiifasT & fawey yem Hrar |

gy@ggigiﬁyg%ﬁwﬁwmﬁ%m%wﬁ%uwﬁww%ﬁmﬁw

|

ITR: T | BT & SAITTRBIBI0T A Farail # IARIR GR&T B dAd< =iar ga1 & 21
TUA HH MY 3N JHIOTS GR&T ATHT | diid I8 9 &) G0 Iad gl 2|

(i) 3o GURT b GRT HRA TRPR GRT [T 1T HR JURT P RV d TRV TR HaT H ==

|
ITR: HRA # 3P JURT & IR HRT PR gRT fHT 1T T GURT & HROT, -
999 WR P WM, 999 DI WiedTed T MR T BT Wfwsd fIawor A &l
UieHTied BT UT| $9P AN, TS B JURT BI ATaRgHal axgaii & g s
TS AP II6R $Y 3T B AUTeS 991 & forg 4t
YR AR F R BT Bt G B GIRTETT 91 BT S, TP PR I YT HAT
T, foreg S99 PX Toa | gig Tl §31 39 Sifafvaa, facelt fFazet & few e w7
Mg o W FR Ioa g B HHIEATE eftor g1 g, oIt Ay i Se e 3
BN 918 9 R APRIAP YU UST 8

(3T el 3y R T uRomm F R siw ueM Py wmd)
(i) SgUETT ATUR 9 fg-Uellg AR # 3R W Hiferg|
ITR: TgULNT IR U =T GRT &1 | 31 =0T & w1y awgait 3k Aarsif &1 3meH-
Wﬁmﬁ%mmaﬁmw%
feuehta smuR @ arerd 3 3w & i avgait ok Qarsil & e -UeH $3 & forg fFu
M 9T AR | 8

3y

(i) ST UferuTa= i, afe Traer ¥ arL =g &1 oy, < foedt off srferawn & forg gt
JAaR Tifed g gabelt 1"
T 379 T 7T o & Tgdd € ? I ddhi gRT 30 IR $I gY Hiford|
FR: 1 | SmaTa ufaeTes e &1 Se=a we S o faexht ufeuuf @ sam ok fagztt
ST U g AT B TR ST o WA =1 ATl
foreg, fad=ht wfoeguf @ JRem & FRUT a1H & Toima 71 3if¥e 8t TPt 81 wfaaer #t
SURATA H, TR SdTEH! & URT 3 IUTE Bt YUl § YR B g PIg SIFUTR0T
TE1 g1a1 81 1Y €, SuHiTrsil B 3= HIHd U= HH IUras arel a&qE TleA] U8 FHdt
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T 3afere, smard wfaue i, PR Traur A @r] 7 3 o, o fdt oft srdfaaw
¥ fore gurt aaaR wifad g 9t 8
(IR ST &1 TP A1Y 3ifPpd fFar=mg 1)

(i) 1991 H YRA PR GRT I3TT U RTRAITHRT U™ TUT WA HD IUTl & A 3R WP
CHIS I
IWR: RTREHR UM AeUdhIfad SUd gid 3, e Ie=g Yiar dgad A fasfa
§s PO BIUUI DI ST AT 9T GERWiTd &! Frifa ser giar g1

Trlﬂ'ﬁ?;
TS GYUR ifoai fdeiiers Sura 319 €, e sera uRda srferawin & fafim
&l § JARaE B R PP JIHAR P q&a1 § YR FAT IR TP HRITH
ufaeqeterdar H e 8l

1%

1%

34.

AIRId T &1 AFgAD & Difoi :
TATYE 9 T A& & 3HiPhe! & TR, 7T : au §, YR YH doIR Fhad H JUR
BT B 2022 — 23 T SRISHIRY &R U< IR 3.2% B1 718 ¢ | HRISA & garsfi g Afgarsii & yrfart
T g ¥ SFNIRI®IT g i ATHIRT &1 T oM & 3Ha¥R W §U § | Hhac! AR 3Hidhs
fawitg a 2022 - 23ﬁw@aﬁﬁﬁw%ﬁmaﬁmﬁ%wﬁww€rﬁwﬁq@%
HREM! HT fTER
fq7d ufg auf & EPFO & 3iFid I[G da UT &R ardl Qi ¥ 3ifere 81 U §, o fob Wy
9T 9 SfiuaTe® ISR &1 Ydhd 71
TOTARITYU ISTR Yoi B g I L 3G & o1 HiY-TRIGRU1 T e SHSTIRT & &
3RS fadhed g
U 7 TR 9 9T I & 3R W, Fafifad wsi & Sw e
(@) YR Hried & dgdt g3 a1 d Afgen UHiieRt &1 H1s U Hgd garsu|
FW: YR Hriga & garsi iR afgarsit @1 gedt Uriie’t smifere g ik affres
ATHTRT BT ATH IS BT ATER YT g &
(F) HRd H UIGAIYUl SRR Foi &g MRISHS HH S aTal {1 ol &3 &1 UgdH S|
IR: URA | UIGTYUl ISR Joi- & g S=ierie of &:

o PN YHTHU

o TUTA rfarawT

() ITIIHT IGTEXT Bt TeTIdl ¥ T3 d SRIoNTRI & 31 BT faqa samen sifor|

IR U5 RIS & a1 Wt fRufa 3 @ 519 i3 safaa erika @ 8 fg Saurega o
D13 ANTGH 81 ¢ V8T 8, JUia ISP WHid IUTGH AT A 8 | IS8R0l & g, 7 Hiforg
% ue fora= aR Tes YfY 3R & weigRl & T1Y 100 fFed 71g &1 IdTe HRaT | 3FR
98 TS 3R UolgR Hl H1H W 3Gl 7, a9 ot o Icure sruivafda wear 31 sa fRufa o,
$d Idred A sfaflvad aergy gRT fbar T e 3 ? 8iR 39 R 39 il g8

RIATRY $ RS HgT1 o1 IPar B
(IR SR DI Tw A1y Sifdpd fHar g 1)

* * %
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